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QUESTION 1

Consider a static content model loaded at bootstrap that defines a property called "xyz". The property "xyz" is deleted
from the content model and the Alfresco server is restarted. Which statement is TRUE? 

A. The server will refuse to start up and you must review the alfresco.log. 

B. There are no effects upon nodes that have the "xyz" property. 

C. You can still access values for property "xyz", but it is a residual property. 

D. The values for "xyz" disappear as though they never existed. 

Correct Answer: C 

 

QUESTION 2

The workflow pictured, shows 3 gateways. What type of gateways are they? 

A. Exclusive 

B. Parallel 

C. Inclusive 

D. Fork 

E. Join 

Correct Answer: A 

References: http://docs.alfresco.com/process-services1.9/topics/exclusive_gateway.html 

 

QUESTION 3
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Select the element that will allow any node to be included as part of a peer association: 

A. d:noderef 

B. ANY 

C. sys:base 

D. cm:cmobject 

Correct Answer: C 

 

QUESTION 4

In reviewing a JavaScript file, you notice a built-in object named: qsvc. Describe how this object was made available to
JavaScript. 

A. A new class extended the BaseProcessorExtension class and a bean definition specified the name "qsvc". 

B. A class named "qsvc" extended the BaseProcessorExtension class and a bean with a parent of "qsvc" deployed this
class. 

C. A class named "qsvc" extended the BaseProcessorExtension class and a bean deployed this class. 

D. A class extended the ScriptAPI class and a bean definition deployed this class. 

Correct Answer: A 

 

QUESTION 5

In the workload pictured, which sequence flows will be taken after the QA Review is complete? 

A. Both the "Approve" and "Reject" paths will be taken in parallel. 

B. The conditions defined on the sequence flow will determine the path. 

C. The "Approve" flow will always be taken. 
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D. The default flow will be always triggered. 

E. The "Reject" flow will always be taken. 

Correct Answer: B 
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